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PART-A 7 YA )
MATHEMATICS & AFPSTHETICS SENSITIVITY /7 wins o il ¥idEs

If'a die is rofled 3 dmes. The probability
of having aces in 2 of the rolls is:
(Ay 024 {B) 0.16

() 080 D 032

A com s tossed 7 imes. Probability of
head appearing on odd number of times

3 °

3
(B)Z

b ] —

(A)

3
(E"):;

h | e

{C)

Bag 1 contains 5 green and 3 red balls
Another bag 2 contains 4 green and 6
red balls. A red ball is drawn from one
of the bags. The probabilify of this ball
being drawn from bag 1 is :

& = B —
(&) 13 B) i3
8 4
© T3 O 3
ol 3
i 1
If x3+x>~-2=0 then x equals to :
(&) 1 and -8 B) 1 and -6
(C) 1and <4 (D) -6 and —4
IF g =10, then x equals to
L ot R |
(A) 2 2 ®) 2 ° 2
{C .}. faly .:_}. _l.

3

¥ 2 H U oW BE F WNEE

{A) 0.24 (B) 0.16

€y 0.80 DYy 032

we Tty &7 7 ey gorn wRo §ofee

(head) w7 Touw dwm o & QU@
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{A) L {B) 2
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(A) 19 -8 B) . 19-6

Cy 19 -4 Dy 69 -4

oy A a0 % dir =
-1 1 —~1 -1
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f—l} .

() 5 T L) 5




va

16

{43 Twice the 349 jerm

{By Thrice the 34% rerm
(Cy  Haif the 34% jerm

(D} Mone of these

If p vimes the p™ term of an AP, is equal
to q times the q'® term, then (p+q)™® term
is egqual io .

(A) 2

(Cy 3

® 0
o) 4

A man saved Rs. 16500 in 10 vears. In
each year after the first year he saved
Rs, 100 more than he did in the preceding
vear. How much did he save in the first
year ?

{A) 1300 (By 1200

(Cy 1100 D} 1000

if their arithmefic mean is 34 and
geomeiric mean 15 16, ihen these two
numbers are:

(A) 64 and 4
(C) 64 and 2

By 64 and 3
(D) None of these

How many terms of the series

2+6+ 18+ . must be taken to make
the sum equal to 72 9

(A} 6 ® 7

€ 3 Dy 9

10

&)

T odd wmozamioww ) oF g
WOGTW OE 0 T2W wR o EW
(A) 34F w5 By %
(B) 348 T @1 @ Uil
(Cy 2349 7% w owwmi
(D) T T BE A

Um WA W pA T W op YA S8 T
& q N w I R, 94 (p + g W
e & ETET E

(a) 2 (B) 0
(Cy 3 (Dy 4

UH B R 10 9N ¥ 163500 wuh
W g W Gy wd ¥ ouvaE pew
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100 S WS 99 | wam 98 ¥ suy
Tes wmg W Bl 7

{(A) 1300 (B3 1200

{C) 1100 (D) 1000

Ti& & eIl 1 wwWiET W 34 %

T W A 16 ¥ a ¥ W
:_?_l-

— %

(A) 649 4 (B) 64938
© 6472 @) T &= =@

e 2+ 6+ 18+ . % Ak ug w9
ey @ e d9m (&) 72 & 7
(A) 6 (B}
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11 Harmonic mean between fwo guaniities | 13 & =vewe oo & 51 uBed o 5 5 =

a and b oare in HP would be . TS AT |

A — ® 2 2 gk

R R 2 {A) Py (B) ;
Zab beli

(Cy — () : 2ab o ab
@b b {0 1h {3 ___cz‘ oy

12 i H be the harmonic mean between

12 uE v 9 oW TOwE E HOE, W@
(H+x H+y .
+ is

v and y then

Hev H-v H~:~x+H+y\ .
b ’ Heyx H-y)] ~

gqual to

1 1
(Ay 2 B - 4 z B 3

2x ix
€y 1 o - ) 1 Ly —

3 3

Directions for . No. 13-15 : The 2%, 39 and ) .
irections for £. No R ey 13-15 & fd Rder 0 (x+3Y & R
¥
S terms in the expansion of (x+y)' are 240, | ¥ gy g, AT T ST gz Hask 240,
720 and 1080 respectively, Answer the following | w20 & 1080 ¥ 159 T WY S T
Based on this information. 5 . .
R @ gew & gET §

13  What is the value of # 7
Ay 7 By 6
€y 5 ™ 4

13 » oo Wi = 8 7
(A 7 B) 6
€ s D) 4

14  What is the value of ¥ 7
14 x o7 99 =91 w0 7

(A) 1 B 2

_ (A) 1 ®) 2
C) 3 4

(© (D) (€ 3 @) 4

15 What 1s the value of.}‘ ? 15  » o 99 ¥ B ?

(A) 4 By 3 (A) 4 ®B) 3
C) 2 1 | |
(€) (D) © 2 D) 1
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16 The system |

Ay =Zp+br=§,

Z¥—y+3z=3, Ix-yv+3z=4 i5

()

{Ch

17 The value of v for

Inconsisten:

Systemic

when solved are -

{8y Consistent

—

(D Complax

N
2 x 2=
706 x

i

o
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§

18

The number of circles touching the
coordinate axes and the line x+y=1 is:

i8

(A) Exactly one _
(B) Two
{C) Three
{03y Four

19 For 1777 x(17) = (17)%, value of v is: | 19

(A)
()

2.29

2.5

(B) 4.2
D) 45

2 (@on equals 1o

(A)
(<)

25

75

By 123
D) 175

dx— 2y iz =
K- 2y s =8,

- 3
)

2y v i3o=d

(A)  SE7g ()

() waEy {In

¥y 3 7
X 2 = 0 EA G UT x W U
6 x

TE rry=1 ot Felfdw wdi @ wpef
(&) Tuv o

{(B)
()

El
G

M =R

A7 ant=ant, e w W

T

(A) 229 (B) 4.29
(C) 25 (D) 45
o4 = 3

(A} 25 (B) 125
(Cy 75 M 175
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23 qu[é _2"], the value of —24 would | 21 R A:[i “3] TG ~2A B AT e
' 0

7
he .
Tl |
-2 6 0 -4 (-2 67 0 -4
(&) ] O 4 (B} _—HZ & (A} 0 _“ja_i (}?’J -7 6]
-3 2 2 ¢ (3 2 -2 0]
© 14 5 @) 3 4 © |4 g D) |3 4

22 34-72B+X =0 & W9 wwE

4 2 -2 1 N
{= 9 B= ERC

23 The matrix X for 34-2B+.%¥ =0 where

A;F 2], 3:{:2 1 woutd be -
]. 3 2 2“ W (w) X = r)
—16 -4 16 3 [ ~16 -4 [ -16 3
(A 3 _5:| B) 4 5:| (A} i 3 —5:| E) ] 4 &
_ _ 16 3 16 -5
~16 3 ~16 -5
© | 4} ® |, _4} © |5 ,J s —4}

23 i A=[i le 7 uege (Ol A

23 IfA:I:i 11] adjoint of the matrix 4=
& wEEEH (Adjoint} = ?
(-1 —1] g 1] (-1 -1] (=4 -]
{A) 4 2| ®) -1 -2 (A) 4 2 B) 1 -z
1 -1 ~1 2] [ ~1 -1 ]
(C) 2 —d (D} -4 =1 . (C} | 2 _4'- m) i

[4] (s)




24

28

26

Inverse of o matrix 4=

]
]

i

1[4 =57
AT gy

(8)
1[4 -3
© 3Bl

L4 s
@ "3l 2

-1 -
cot(tan a-+eot la‘) eruals

_ 1
A 1 B 3

|
Gy " (D 0
'ian{zco?t_lx) equals -
A 2x 2x
(A) 7 (B) 2
c X 2x
© 2 ®y T3

g

e

| S

23

@

FIEY &

Y = :!' f i =
M wER 4= 45 W T

L

{inversm}y =7

o Lpe -5
(A) 23L3 =3

{8)
©r =3

5
o) "ﬁta 2J

ccz(taﬂ_la-é-cet_]a) = 9

1
(4) 1 (B) Y
{8 n Dy 0
tan{Qcot_lx) = 7
A Ex . 2.:5'
A T B 3 1
- X 2x
©) 2 (D) T2

RT‘G.
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At A g £ 4 Va1 e e 8 008 o8Pt e n s mms <o i 5 s




27 sn75 sinisS equals 27 5n73%58135" = 2
: 1 ! 1 i1
(A4 3 ® 7 VIS ®) 3
o L 1 ol .
O 7 D) ) 7 (Dy 1
28 Faor Zsinge*sinéxﬂ, the value of | 28 2sin - O-sinB=0 % Tk
9(D°<8<:.3600) is - 9{9"{:9435{3“] WA ¥
() 0°,30°,150%,180° (ay 0,30 150°,180°
By 0°,45° 135°,225° B) 0°.45%,135°,225°
(y  0°,30%,45°%, 907 €y 0° 30°,45°,90°
@) 30°,45°,150%,135° @) 30°,45° 150°,135°
_ - - -1 3
29 cos|sin 1-3—+sin 13“] equals 29 cos(sm 1§+sgn 1-—-—-] = 7
: ] 13 5 13
SR B & B B 5
63 73 63 73
© & D 5 © 5 D5
-1+/5 _
30 tanl cOs 135 equals : 30 tairal €OS 13{5— = 9
2 3 2 3
I 3 1y, a
(A 5(3—«5} ® (3-+5) (4) —i{a—@) ® (3-+5)
i 1 1 1 .
© -5 ® 3(-h) © 6-3) @ 3(2-5)

[4] (s)




o

31 w{_sec{ltanx)} equals

de =

(A) sec{manx} ran{tanx} sec” ¥

B sec” x-ian (tanx}-cotx

(Cy secx-tan{tanx)- sec’ x

(D) sec{cotx) - tan{ianx)- sec” x

2
(A) 2¢° ®B)
©) 2 1)
d «
33 {gxx equals :
(&)« (logx) (B
pi
< x {D)
. logx
34 j;‘_}“}) 7 equals :
(A 1 (B)
<€y 0 D)

{41

« {1+logx)

logx

31

32

34

d . 1
el seC({TARX)] =
cfx[ ( )‘i

,
(a) sec{ianx)-tan{ranx}-sec” ¥

(B) sec” ¥-1an {tanx})-cotx

(C) secx tan{tanx)-sec” ¥

(D) sec{cotx) tan{ianx) sec” x

24 -
(A 25
2
(Cy 2277
ﬂ‘:?-xx =
g '

(A (logx)
©)

. logx
lim 282 - 0
x—%@ xﬂ ’

(A) 1

{Cy 0

&)

(D)

(B)

D)

{B)

D)

[£%]

Y
2ye

End

2 x
2x"e

% (1+logx}

logx
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35

36

37

38

[4]

s 3%

lim e s o
xiﬂ . squals 1o
L4 m 3
{47 5 B3
o 2 o L
© 3 D) 3

i y=aglax+ bx* +x has ifs extreme
values at x=—1.and x=2, the value of
ais .

(A} 1
(Cy 3

(B) 2
®) 4

For a function
1

f(x)=(xrl)3 (¥—2), 1<x<9 the

ahsolute minimum value angd absolute
maximum value would be

{4) Min value -39 and Max value 25
(B) Min value 25 and Max value 39
(C) Min value 25, Max value 40
(D) Wone of these

lf_[f(x)dx=w2¢os«fz+c then f{x)
is equal o :

sifl J;
iy

(C) 2cosx (D) None of these

(A) sin+x {B)

fad
%2

36

37

38

. 3R 3y
hm T—— !
=20 DX
{(A)y 8
5 5
2 ) !
{C} 3 {12 P

iy y=alny+b”+x W OSEH
(extreme) T x=-1 ° =2 %

B B W o W AW . B
(Ay 1 By 2
€ 3 @ 4

i
s f(x):{ix—»i_)s{x~2),lixif‘?ﬁ
% Tl ofE =weT WM 8 Y WETE AF
|
(A) =g W -39 FEEW W 25
(B) =W WY 25 9 HEGH WM 39
(C) e A/ 25 § SEER AW 40

D) % § ®F &

i jf(x)dxﬁmzcosJ}-'rC, i
Fx)=7

inx
(8) sinx 3%3
©) 2cosfr (D) T EER W




35

40

41

42

[4]

1

tex
;r ”i_._-},a% erjuals o
pl+x
(A) 2log2 B 2log2-1

€y Zlog2z-x (I log:

jﬂ e cose” dr equals to :

. X
() sine” +c (B} cose +¢

(€} tane” +¢ (D) cote” +¢

jxcosxdx equals to .

(A} X¥3IAX+XC0SX+C
{B) Xxsinx+cosx-+c
{Cy sinx+eosx+c¢

(D) sinx+xecosx+e

4
x +1

j‘ =& equals to :
X +]

3
X -
(A} —-x+2an 1x~f~c

5
@) -x+2tan lx+c
3

X -
() —+2ltan Yy+e
3

(D) None of these

3%

40

41

42

©

ez
Ol-i-x =7

(A 2log? B) 2logl-1

() 2dog2-x (D) log2

° X X
}e gose dy =7

(A) sine®+c (B) vose’ +c

(C) tane” +o D) cote’ +e

Excos xdy = 9

(&) ISOY+XC0SY 0
®B) X5INX Q08X +O
{Cy sinx+cosx+c

(D) SIX+X¥C0SX+C

4
jX‘*‘Idr =9
2
X1

3
x -
(A) —-x+2tan }x-l-c
o

®) -r+2ian x+c

3
(©) %ﬂ-}-ztan_lx-{-c

O w8 & B§ T8

s et ot B




43

44

45

46

[4]

2

o

X
,E ”‘;‘"fé"f equals 1o

-1
{Ah) 3 By 2
(Cy | Dy 0
— xS ha M — Y
I a=i+2j+3% and p=-2j+4k,

— =
the value of a-b 13

(A} © (B) 8
)y 7 oy 6

i —

a and p are two vectors such that
- = — =

a|=4 and [bi=3 and ,.p =g, the

dp —p
angle between a and b is -
(A) B) 45°
(C) 30° D) 0°

60°

An equilateral iriangle is inscribed in the
, 2 2 2 .
circle x* + " =a" with the verex at

{a,0). The equation of the side opposite

to this vertex is .
(A)
()

Xegf=1)

®)
LY 3x-2a=0n

wx—ag=0

2x+a=1

43

44

46

©

J-ﬁ-»a'r =7

X

i

A) 3 (B} 2
Oy I 0

P S L S — . Y
T g = 3'-"2_}"‘?*3)?6 9 b= "2}“45:.:':{“

-y

a-h W OHH .. B

(A) ® By 8

£y 7 Dy &

- —> - - = .o -

g & p S LY afty ¥ |lal=4 7
- — - - -
bl=3 891 a-b=6d9 o I b T
T & WO o B |

(A) 60° (B) 450

(Cy 307 D) 0°

I xSyt =a” F wEEg B T

T % g s (0.0) W ¥ 1 E9
i % fawg ymn § o @1 wileer
(A) (B}
(€) 3

=l

3x-2a=0

Ix—p=0

2x+a=0
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48

49

350
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— - - =
Foaxd=0 and g .5 =0 then

- -
{A) a is perpendicular io
— -~
(B) g i parallel to §
- -3
(C) =000 5=
- —
D} a=0buwt p=0

For the plane 2x+3y+6x-18=0, the
intereepts on the coordinates axes are:
(A) (9,63 (B) (6 9 3)

{Cy (3,6, % (DY None of these

The two planes

—

Y. [? + z}‘+3:&} =13 and
— ry ~ Al
7. [M-s-zj-m):g

are perpendicular to each other. The
value of 3 is :

(A) 18 (BY 17

€y 16 Oy 15

The standard deviation is not affected by
the change of :

(A) Origin

(BY Scale

(C) Origin and Scale
L)

Mone ¢of these

47

48

49

50

)

. i
B a,
(C) gm0 ¢

— . —r
D) a=0 @ p =0
AW 2r+3y +62-18= 0 & Tl RElE
@l Y sEEs . ¥
{a) (8 6 3) (B) {56 9, 3y
€ 3,6,9 (D) T % T4

T GEL B TEE | p BT B |
(A) 18 (B) 17

() 16 (D) 15

e & o foomds oftedw & wrrs Rraes
T oy M der ¥ 7

(A) wenw

(B) Yur

€y wxw el darn

@ T ¥ B

B I AT TS A S $1 8 3D e e i,

BT A

A b
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54

55

4]

{(A) metal

Hawa Mahal is located in
{#) Maharashira

{B}
()
(L)

{3ujarat
Jammu and Kashmdr

Rajasthan

Tempering process is
(A} Heat Treatment
{B) Hammering

{Cy  Eleciroplating
(I3} MNone of these

Who was the architect associated with
San Temple, Konark ?

(A) War Singh Dev
{B) Pallavas

(Cy Jai Singh

(D) Raj Rewal

Fatehpur Sikei is built with
(A) red sandsione(B) granits

(Cy Ybricks (D) marble

Maximum insulation is offered by

®)
(L) glass

wood

() wool

£
o

53

54

55

)

T AR .. B HeE %
(A) T
(B) ST

(C) W F WP

(D) USTAT

et . uiwm ¥
(A) TN T
By edrgi wro
(C) swEErHT
(D) 5 ¥ TE T

wd AR, wim @ wEl e el
we a7

(A) IHE 49

By uwE

(C) wrafds

Oy T Yam

wHET S e ¥ g ¥
(A) e Fewr (B) Fme

< # (D) WAL
TEAH U . H B @ ¥
(A 9 (B) gl
€y o7 (D) wE (@




36 Who designed Rashtrapati Bhawan at
Delhi?

{A) H Kakar

By Edward Lutvens
() Russa]

(D) William Emerson

37 Which city is called Pink City ?
{A)  Jaipur
(B} Udaipur
(Cy Jodhpur
(I3 Jaisalmer

88  Who is the father of geomeiry 7
(A} Arisiotle
(B} Euclid
{C) Pyihagoras
(1) Kepler

3%  Where is Khajurao ?
{A) Bhopal (B) Jaipur

() Jodhpur (D) Mumbai

60 Which of the following is not 2 warm

colour?
(A} Bhle {(B) Red
{Cy White (D) Black

[4] (15)

86 T B TS WeT wy f T%?ﬂi;?i
fay ¥

(A) TE. wmT
}
(Cy W

D) fafem rew

|

o

N
s ey

w

144
-2

T T W et T e e 3o

(A) SOy
(B) wEmgY
(C) Wi
D) e

538 oY & e BW % 7
(A)  areg
B) yirrs
(C) urEmiTH
D) T

59 @y wa b7

(A) wma (B) =YY
(C) gy Dy Tag
60 Trafitas ¥ ¥ o m W (@ 6
N
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Problem figures given In questions {72-78)
have ¢ common characierisiic, Select the
answer figure from the opiions given which

has the same common choracteristic,
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Find out the 1ota) number of surfhices of § 8]

an object given below
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Find out ihe iotal number of surfaces of § 82

an object given below

(A)
(B)
(€)
D)

12

8

@)

P T AR AR UUFPAu: LI i . [
R A £ S R B S G R W S B B S I

B

_/‘”

(A) 10
®) 12
) 14

@) 8

W T uRg & Owl @ ow oed I
w1

(a) 10

(B) 1
(Cy 12

Dy 9

e i P Ve T e £ v

R

W

et sl e et A b e 4, § %0 2 en s me D eI 4 e o




: S ot b S D S sl e e oo opEm
fn guesiion 83-89 Fend or e gpneer F@EY L ue S2-80 T TEE AW OB DI T W o

o

, a
vompleies ihe Jigve G s 5

1

i

83 @ @

{A) & (B

(€1 @ (D}

& 8 B
@ 9@
S
&

fvas

84 E%g : o i%% 7
= =

(A) Q (B) O " Q " O

141 (%) P.T.0.




P e L L LTl 1T i e ot Y WA S0 U LS i o s At 100t ot VRV 1 % M et iR b T e e s 1

| 4|0

(B}

D)

(A)

(G

A S P St

(B

(D)

86

{(A)

()

PT.C.

| 2|

{C)

(8)

(D)

85

(A)

(€

()

[4]




3

88

o [M] @ [w

(<

AR

i
Z

&8

Dy

(A) M ®) W

(©)

PLO.

@

[4]




I B e e e

[ S B e oL A it 1 e e i g e e s, o

A)

(A
(B}
©

)

&9

o)

(A)

(B)
(©)
D}

8%
[4]




G99

Bl

9%

[4]

How many iriangles are there in foliowing

figure 7

. <
M’J
(A) 29 (B) 19
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How many squares are there in the
following figure ?
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Choose the correct mirror image of
problem figure.
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How many total number of rectangles | o3
are there in the problem figure below ?
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Find the odd figure out
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How many triangles are thers in the
following figure 7

(A 17 By 14
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Find the missing characier.
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The problem figure shows the top view | 99
ot an object. Idemify the correct from
view from the options given :
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The problem figure shows the top view

of an object. Identify the correct front
view from the options given :
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